
Update of beamstrahlung function

1. New argorithm

2. Parameter files for the latest JLC parameters

Akiya Miyamoto
@ JLC weekly meeting

19-April-2002



0 0.2 0.4 0.6 0.8 1

1

10

10
2

10
3

10
4

10
5

10
6

Comparison of old function and Cain

Old function Cain

JLC-I
X band: Eb=250GeV



��� � � � ��� �� 	 
�� 
� 
� � 
 
�� �

� ��� � ��� ��� ��� �� � ! � ��"�# $&% �' � � � % ( )� � � $�* +! � � * ,.-

� / � � % ( )� � � $ * +0 * ,1 2! � (� � ��3 % ) � (! 1 � 4 4 )� )� �5

6 7&89 : ; <>= 9 = 7 ; <>?@

A B�C�D E FHG I J KML N I J O P B�QR SR TU E F

VXW C
C G Y Z Y\[ ] ^`_ ab c dfeg a hikj al j g j _ mn

E ] b e h h dfo dfeg c d lj

prq s tvu wyx z{ t | u }~�� � ~�� + ~�� � � ��� � q } s u z{ t � ~�� + ~�� � � � L q ��� �
�� � , ��� ��� p + � � �� � p � ��

� + ��� �� � p t
�� �

� q � ,# p# � � { q �� � + p � � L� + p � �

� �`� � q �������  
�¢¡

��
£� ¤  

� + �� �  � ¥ � �¦
��
� �§

¨ § ©� �� ª « ¬­
s u ® ¯ °²±³ ³ ´ ¯ ± °²µ °µ ¯ ¶M· ¸¹ · ± º ´¢» ³| u ® µ °µ ¯ ¶M· ¸¹¼ ± ³ ³} ® ½¹ µ ³ ¶ · » ¯ ¶ » · µ ¯ ¸¹ ³ ¶ ± ¹ ¶

¾À¿ ÁÂ ÃÅÄ Á Â ÁÆ Ç Ã ÈÊÉ ÂË YÍÌ Î T Ì ¥ dfo mj g j _ a cj Ïi n Ð B�C FG ÑR [ A B�C�D E FÒ E Ó Ô A B�CD E F²Õ



Scaled beam energy
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Typical 2D luminosity distribution
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Influence to total cross sections

� � � � � � � � �� � 	process:

program: Physsim ( Bases )
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Summary

1.  The generator for beamstrahlung spectrum is improved.

new method
latest parameter sets

Possible further improvements: 

Non-uniform initial energy spread
Z dependance(?)

2. Next step

Update Pythia interface and Physsim package.
Update figures for roadmap
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